GET NOTEGED GENEUSINESS

> AlphaGraphics Camelback 4444 North 24th Street Phoenix, Arizona 85016 Phone 602.263.0122 • Fax 602.265.0569 email: us011@alphagraphics.com





Pay Your Invoice Online

Invoice Number: 11-442342

Bill To:

Michelle Peralta

Assistance League of Phoenix

9224 North 5th Street Phoenix Arizona 85020

Phone: 602 944-7636Mobile: 602 299-8369

E-Mail: michelle@alphx.org

Date: 11/22/24

P.O.:

Taken By: John

Sales Rep: John Monteith Account Type: Charge Account Wanted: 11/22/24 12:00 PM

Ship Via: Local Delivery (Phx/Scottsdale)

Boomarks (200 of 3 verisons)

Doomarks (200 01 3 Verisons/		
Quantity	Description		E. Pilee
600	Boomarks (200 of 3 verisons), 2 x 6 White 16# 16 Point C2S Cover Stock , HP Indigitally printed on 2 sides, 14 Up Cut to Final size Fix bleed or add Bleed to a PDF file \$22.50	digo	\$ 151.38
	ROTARy book distribution 136/24		
		Discount	-15.14
		Subtotal	136.24
Special Instru	ctions:	Tax	11.72
		Shipping	0.00
		Total	147.96
		Deposit (-)	0.00
		Amount Due	\$147.96

PAYMENT TERMS: I understand all charged invoices are payable 30 days after invoice date and that a service fee of 1.5% per month will be added to all past due accounts. In the event payment is not made and account is referred to a collection agency, or if legal action is required I will pay collection and/or attorney's fees resulting from such action.

CHECK ACCEPTANCE POLICY: My signature indicates I understand and authorize AlphaGraphics to electronically debit my account on all dishonored checks plus a processing fee and any applicable taxes.

ALL DISPUTES must be addressed within 30 days of receipt of product. AlphaGraphics cannot research disputes on product older than 30 days.

CREDIT CARD ACCEPTANCE POLICY: Credit card payment may be accepted at the time of sale or within the first 30 days after release of merchandise. Credit card payments exempt from credit card payment without a processing fee. without a processing fee.

Signature	Time	
Print Name	Date	Li ve (vei voor nalier html

Jeannie Madia Rotary



Marketplace

Order # 7001439329

September 20, 2024

PROCESSING

Product Name	SKU	Price	Qty	Subtotal
5-Minute Disney Bunnies Stories (Carton of 16 Hardcover Books)	443451	\$11.20	Ordered: 10	\$112.00
Peter Pan & Wendy: A Junior Novelization (Carton of 48 Paperback Books)	443468	\$28.80	Ordered: 3	\$86.40

Shipping & Handling \$0.00

> \$198.40 **Grand Total**



Book Depot 67 Front St. North Thorold, ON, L2V1X3 bookdepot.com service@bookdepot.com 1.800.801.7193

Thank you for shopping with ScokDepot.com! We appreciate your business.

(arcadia Rotar

Order Date

9/20/2024 5:04:00 PM

Bill To

Ship To

ASSISTANCE LEAGUE OF

PHOENIX

ASSISTANCE LEAGUE OF

9224 NORTH FIFTH STREET

PHOENIX

PHOENIX, ARIZONA

9224 N 5TH ST

PHOENIX, ARIZONA

85020, UNITED STATES

85020-2533, UNITED STATES

Order#

26526Z3G6E372P4

Shipped Via

Pending

	Tille	्रा स्थापन विकास	Shipped	Zijirae 🖟 S	isjo Idir
9780063244931B	Oh, Sal (A Miller Family Story)	137-	137	1.18	161.66
9780316440554B	The Big Break	23	23	1.00	23.00
9780316748919B	The Cake That Mack Ate	136	136	0.95	129.20
9780593384510B	Go Back to Sleep	21	21	1.00	21.00
9781368002974B	Dog Days of School	157	157	1.01	158.57
		•			
			SubTotal		493.43
			Coupon		0.00
			Tax	-	53.37
			Shipping		127.14
			Total		673.94

Orders may be canceled within 24 hours of being submitted before additional charges may apply. There is a 15% restocking fee for any orders that are canceled while in production. All product purchased from Book Depot is nonreturnable.

If you have any questions about your purchase, please contact our Customer Support team at 1-800-801-7193 or service@bookdepot.com.

Amazon.com - Order 112-7456392-7569032

(arcadia Rotary)

Price

\$4,99

Details for Order #112-7456392-7569032

Print this page for your records,

Order Placed: September 20, 2024

Amazon.com order number: 112-7456392-7569032

Order Total: \$37.73

Not Yet Shipped

Items Ordered 7 of: Peter Pan & Wendy Junior Novelization, Rudnick, Elizabeth

Sold by: Amazon.com Services, Inc

Supplied by: Other

Condition: New

Shipping Address:

Sue Brash 65 E. University Drive Apt. 344 Tempe, AZ 85281 United States

Shipping Speed:

FREE Prime Delivery

Payment Method: Visa ending in 1394	Payment information Item(s) Subtotal: Shipping & Handling:	\$34.93 \$0.00
Billing address Sue Brash	Total before tax: Estimated tax to be collected:	\$34.93 \$2.80
65 E. University Drive Apt. 344 Tempe, AZ 85281	Grand Total:	\$37.73
United States		

To view the status of your order, return to Order Summary.

Conditions of Use | Privacy Notice © 1996-2024, Amazon.com, Inc. or its affiliates

Back to rob

United States English

Help

Conditions of Use Privacy Notice Consumer Health Data Privacy Disclosure Your Ads Privacy Choices © 1996-2024, Amazon.com, Inc. or its affiliates

7 geannel



Marketplace

PROCESSING

arcadia Rotary

Order # 7001468870

October 2, 2024

Book Life-Books

Items Order	ed			
Product Name	SKU	Price	Qty	Subtotal
Squirm (Carton of 48 Paperback Books)	441183	\$38.40	Ordered: 6	\$230.40
	<u></u>			
Star Wars: The High Republic: Quest for the Hidden City (Carton of 36 Hardcover Books)	444602	\$21.60	Ordered: 7	\$151.20
			Subtotal	\$381.60
		Sh	nipping & Handling	\$0.00
			Grand Total	\$381.60



Marketplace

Order # 7001486713

PROCESSING

October 8, 2024

Jeannie ancadia Rotary Book Gifts-Books

т,		\sim 1	
ITA	ms	()ra	lered
11		\mathcal{L}_{i}	-

Product Name	SKU	Price	Qty	Subtotal
Finally, Something Dangerous: The One and Onlys and the Case of the Robot Crow (Carton of 12 Hardcover Books)	441551	\$10.80	Ordered: 10	\$108.00

Subtotal \$108.00

Shipping & Handling

\$0.00

Grand Total

\$108.00